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JIEAE K4 s | | B | Total | HDCP | xvh i
B | | R 44 39 83 14.4 68.6|ik T LE 501 F
HEAERS |5 1l 75 54 54 108 38.4 69.6| AUV ZXRTA/N—

3 [ w &= 47 36 83 13.2 69.8| XA NAN X T 4— 307

4 |k £] J= 41 40 81 10.8 70.2|Fv b7 L —k

5 | & B 9 45 47 92 21.6 70.4|Fr3e FEABHEYE

6 = [ ) 44 48 92 21.6 70.4[Frry=A TE»I5XX

T % R FE - H 43 42 85 14.4 70.6| 4 0 HEER R4 KR

8 | 1l 1= 42 41 83 12 T1&H] RERD v —

9 IE K E A 41 42 83 12 |bTHTHE

10 P~ % B ME — 45 44 89 18 T TIvtT VA TEYTF T FT—~oR

IR VI 2 w1 46 43 89 18 71

12 | N & 49 46 95 24 71

13 |, K # IH 44 44 88 16.8 71.2

14 |#& [ic} fige 43 38 81 9.6 71.4

15 |k H R 39 42 81 9.6 1147 VA= R—=RTA X T M

6 /N MK B E F 44 42 86 14.4 71.6

17 |A L5z fiq 48 44 92 20.4 71.6

18 |4 5 = 48 44 92 20.4 71.6

19 (B = TS 39 40 79 7.2 71.8

20 |12 K T 38 41 79 7.2 71.8|FrE B

21 | OF AR 39 46 85 13.2 71.8

22 || W B 49 47 96 24 72

23 I i | 40 37 77 4.8 72.2

24 |ZH 1 B % 39 38 77 4.8 72.2

25 |k B & 42 41 83 10.8 72.2|BLe T ML

26 B R 82 # 46 43 89 16.8 72.2

27 I BB FE 5L 44 45 89 16.8 72.2

28 |®& FI B K 53 53 106 33.6 72.4

29 B H o F 38 37 75 2.4 72.6

30 |/ H 1= TN 45 36 81 8.4 72.6|FJA/ XA 7L A

31 |#& JE i3 44 43 87 14.4 72.6

2 |k A "5 48 45 93 20.4 72.6

33 |EH 5 L 48 51 99 26.4 72.6

34 (ES & 40 40 80 7.2 72.8

3B | o/ I &K 46 52 98 25.2 2.8(Bl>FNENADT T A3 ik

6 | W g 41 38 79 6 73

37 |& ZN h 40 39 79 6 73

8 B M om — 3 40 45 85 12 73

39 /NI » K 46 39 85 12 73

40 |AT M & 42 43 85 12 73|BS HRAR RS

41 |fH % o I 44 41 85 12 73

42 1Bk ot £ B 42 43 85 12 73

43 | Le: i 49 48 97 24 73

44 B T o % 43 41 84 10.8 73.2

45 | H B AT 40 44 84 10.8 T32|VREEVUL D YR

46 |EF Y 42 42 84 10.8 73.2

47 |88 K & IR 46 43 89 15.6 73.4

48 |E HH st 44 45 89 15.6 73.4

49 | A& HE X 46 49 95 21.6 73.4

50 |2 IR H H 50 45 95 21.6 73.4|F ¥ AL /K —
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JIEAE K4 s | | = | Total | HDCP | x%vh i
51 |&2 5Ok 48 46 94 20.4 73.6

52 | H X F B 50 44 94 20.4 73.6

53 | fi] Fax 43 38 81 7.2 73.8

54 2R H o r 43 44 87 13.2 73.8

55 [#&n K n B 48 45 93 19.2 3.8 —~Fv> 7

56 | HH BT 48 51 99 25.2 73.8

57 |1E 2 B B 39 35 74 0 74

58 | il 5 41 39 80 6 74

59 |l H (=57 43 37 80 6 74

60 [ & B = 47 45 92 18 74|BODY SHAPH GUN
61 [ A & 52 52 104 30 74

62 (W 4 — F I 48 43 91 16.8 74.2

63 | B g ¥ 45 46 91 16.8 74.2

64 % S L) 50 47 97 22.8 74.2

65 |k PN =| 43 41 84 9.6 744|158 HER2AREYE
66 | K N & 40 44 84 9.6 74.4

67 |B B 42 42 84 9.6 74.4

68 |= K E = 45 45 90 15.6 74.4

69 |fd# i SR 45 45 90 15.6 74.4

70 |2 W [ER S 43 47 90 15.6 14.4|2 % —F AN T TRAT
1|8 H B — 48 48 96 21.6 74.4

72 |BE i3 B 42 41 83 8.4 74.6

73 |E H b A ) 42 41 83 8.4 74.6

4 R E A 40 43 83 8.4 74.6

7% &R 47 48 95 20.4 74.6|% ¥ 2ot 4

6 | K B 1 51 44 95 20.4 74.6

(O %= i) 37 39 76 1.2 74.8

78 | fif] b5 42 40 82 7.2 74.8

9 1B X 42 40 82 7.2 74.8

80 |{& % U8 46 48 94 19.2 1487 V=747 Yo A —
81 |+ = BT — 48 52 100 25.2 74.8

82 Il X E A 37 44 81 6 75

83 |t ER | 46 41 87 12 75

84 |2 (L S 58 53 111 36 75

85 | & E B 39 41 80 4.8 75. 2| HEEOH DY
86 H oAk 47 51 98 22.8 75.2

87 & A E S 56 54 110 34.8 75.2

88 [t& M NI ] 46 39 85 9.6 75.4

89 | K KR 45 46 91 15.6 75.4

90 |7k 72N {ZS 45 46 91 15.6 75.4|8%K ZLOMD10ke
91 |¥ K B % 44 47 91 15.6 75.4

92 Ik 75 Mt 41 50 91 15.6 75.4

93 I/ W B W 50 47 97 21.6 75.4

94 |1FR K g2 49 47 96 20.4 75.6

95 |in Bk 7’ 45 38 83 7.2 75.8|EEIL

9% ¥k B2 44 45 89 13.2 75.8

97 |& JII 28 47 48 95 19.2 75.8

98 | i H Ok 50 45 95 19.2 75.8

99 /N g i AT 47 47 94 18 76

100 |/ 72N A 50 50 100 24 16|51 AR Rk




6H21H (OKk) 7VRIA—7 plifE—E&
1T~V 7 Bt (HDCP - FR40.8, 14— /L0 _FRRPard2f5iZ, Al — %y B S lER7 (DHDCPIE @4 #HIE)
OpELA—L f2—2:123467 HE2—2:123678 Ha—2:123579

101 |kx I [ | 52 54 106 30 76

102 (% K H % 41 40 81 4.8 76.2

103 |hn g ' 45 42 87 10.8 76.2

104 |z 11 wo i 44 43 87 10.8 76.2

105 |&A  HF 5 =% 53 46 99 22.8 76.2|4~D1 1¥—=
106 |7 b [ 49 50 99 22.8 76.2

107 ¥ L W — 51 54 105 28.8 76.2

108 | W £ L F 57 54 111 34.8 76.2

109 (H M %% 47 45 92 15.6 76.4

110 (¥ 2 Lz 55 43 98 21.6 76.4|%r% BRWEYH

1y g % E 51 47 98 21.6 76.4

112 |+ = £ 3 49 49 98 21.6 76.4

113 & g %k 55 48 103 26.4 76.6

114 |kl 17 41 43 84 7.2 76.8

115 |4 A i} 47 43 90 13.2 7168|7477 —/ T A
e im wm K R FH 40 50 90 13.2 76.8

17 |A& H i 49 47 96 19.2 76.8

118 |t# M # 2 53 49 102 25.2 76.8

119 | I /R 55 53 108 31.2 76.8

120 (2 2~ K F = 49 46 95 18 17—~ I—F
121 |+ = CINE S 50 51 101 24 77

122 |#% 72N = 52 49 101 24 77

123 |2 % I3 58 54 112 34.8 77.2

124 |k [ ¥ — 44 49 93 15.6 77.4

125 (B 1= = 47 52 99 21.6 174/ ARIAR RTAN—_yR A/ —
126 | & L F 48 51 99 21.6 77.4

127 [ R — 61 50 111 33.6 77.4

128 | e = 49 43 92 14.4 77.6

129 |5 H S ¢ 54 44 98 20.4 77.6

130 |#E H B % 50 54 104 26.4 77.6|FARNIANN—Iy T &ZF /LB
131 |88 K o — 50 59 109 31.2 77.8

132 |4 7 %) 42 48 90 12 78

133 M Lo ik 50 52 102 24 78

134 & 7 mt 51 51 102 24 78

135 [# E = 61 47 108 30 8Ly I R— NV &T 4 —R—F
136 (A # O A T 42 41 83 4.8 78.2

137 | 2 Koo 44 45 89 10.8 78.2

138 |5= B ow 48 47 95 16.8 78.2

139 (% & Hm F F 49 46 95 16.8 78.2

140 |E & JI B * 52 49 101 22.8 78.2|a—RLAEEREY 7 7Y —F —
141 [ 2 o r 55 52 107 28.8 78.2

142 [ & — % 52 55 107 28.8 78.2

143 |2 7/ 47 47 94 15.6 78.4

144 |k JF g + 48 52 100 21.6 78.4

145 | K 7 MR 56 50 106 27.6 T8 AR EONE DY
146 |#H 2y 15 59 47 106 27.6 78.4

147 i K - 49 50 99 20.4 78.6

148 |E K I | 50 48 98 19.2 78.8

149 |1 i3 5F 48 48 96 16.8 79.2

150 | ES " 54 42 96 16.8 719.2(7v% 77 m
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151 |3 M & 47 49 96 16.8 79.2

152 |88 K H O 51 51 102 22.8 79.2

153 | M g5 2 54 54 108 28.8 79.2

154 = ESINN S 52 55 107 27.6 79.4

155 (& 2 m % 58 55 113 33.6 79.4[LANVIN HR—/LiR—F
156 | I EAES S 47 47 94 14.4 79.6

157 |% JER i 48 52 100 20.4 79.6

158 | E fmo 52 48 100 20.4 79.6

159 |f& [ £ — 56 50 106 26.4 79.6

160 [In Hm K H &K £ 55 51 106 26.4 79.6|C ¥y I N=— Fxy S
161 |# £S] 5L 1 59 52 111 31.2 79.8

162 | & IE K 54 44 98 18 80

163 |85 L B AT 51 53 104 24 80

164 |B5 = (- 51 53 104 24 80

165 [/ 4% VI 46 45 91 10.8 80.2|FFigE{MA vk

166 |f# HH & JE 46 51 97 16.8 80.2

167 [ I (- — 57 45 102 21.6 80.4

168 |/ Ak (SN 55 47 102 21.6 80.4

69 |E & ) = 54 54 108 27.6 80.4

170 | A = < 57 50 107 26.4 80.6|4ffEE AF — L —AZ—
171 |= % ¥/ 59 54 113 32.4 80.6

72 (XK % F o 53 58 111 30 81

73 |/ i A X 52 52 104 22.8 81.2

174 |85 K moF 48 56 104 22.8 81.2

175 | H T 55 61 116 34.8 81.2|7V RV 7T
176 |7 g Ak 58 50 108 26.4 81.6

77T W X K £ F 62 52 114 32.4 81.6

178 (& F* XK L K8 49 46 95 13.2 81.8

79 |5 B 7 W 53 60 113 31.2 81.8

180 [k M B = 61 61 122|  40.08] 81.92|frH®EIAEvH

181 |A & H F # 51 54 105 22.8 82.2

182 |&# M S 53 64 117 34.8 82.2

183 A [ T+ = 56 57 113 30 83

184 |H i x oz 53 59 112 28.8 83.2

185 | HH 5 62 46 108 24 84(ZARVAN FV—HA )L
186 |#* Vi /N 55 56 111 26.4 84.6

187 |ZE Ji fig 45 58 103 18 85

188 |1& g ¥ 60 43 103 14.4 88.6

189 b A& &K B E 65 63 128 36 92

19 & ® E Ot 67 67 134  40.08 93.92|F] Y a—X/r—2R
191 |&= =T 61 73 134 40.08]  93.92

192 & Aoz 63 73 136]  40.08]  95.92

BB |v& B o 1 66 71 137  40.08]  96.92|BS F¥T4— v/
BM |/~ #f IE 82 63 145  40.08| 104.92(=2 7217 fdE A
BG | 8 B B 39 35 74 0 T4|# AN AL PROV1
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Wl & Il & W & 52 52 104 32.4 71.6|Pv v /R=— h—Fy

w2 (B JEL % 42 42 84 12 72|FIDRA ¥ a—X4—2%

W3 |k# [ B F- 45 45 90 18 200% v =— VTR IR —F A VR — )Ly




